Wackie Wordies #41
By Terry Stickels
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16 The capital letters below are arranged
into two groups for a visual reason, What

13 three letters should be in the third group? ’—6'
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Draw the next figure in the
sequence.
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meanings. What is their connection?

18 1 following words have something in -
commeon related to their structures, not their {
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Answers to Terry Stickels' Teasers

. All worked up
. What goes up, must come down

. Case in point
. Paradox

. Nosy neighbors
. No two ways about it

. Bar exam
. You are full of baloney

. Wisecracks

. Things are looking up

. A word to the wise
. Ringo Starr

. High-fiber diet
. Gridiron

. An upside-down A completes the sequence;
turn the page upside down to see the letters E|1 O U.

. E, M, and W should be in the third row:
The capital letters in the first row are formed
with two strokes; the capital letters in the
second row are formed with three strokes...

. The next figure is: MM
Starting with |, the sequence is each consecutive

capital letter with its mirror image attached to it.

. Each word contains three consecutive letters of the alphabet.



